unit 2 — Quiz Review
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#1. Find all Holes/Asymptotes
for each of the rational functions.

2x% —9x—18
X° —36

a). Y=

3x% — X

e v- x3 — X

6X° —3X+6
1

C) y=




#2. Find the Limit for the
following functions.

a) lim (x° +x*—9x—23)

X—3

10x -5
42 _8x d) Ilm 2x° —3x+1
b) lim K

X—2

X—>2

e) lim (cos 2Xx) =

X—>TT

c) lim +/(5x +2X) =

X—>—3



#3. Complete the following
from the graph provided.

'T

A

T

a) 1(3) =
c) f(-1)=

e) lim f(x) =

X—3

9) lim =

X—-5

) ()=

b) Im (x) =

Xx—1"

d) lim f(x) =
£y lim f(x) =

x—0"

h) lim f(x) =

X—>-1"

i) lm f(x) =

x—1



#4. Find the Limit for the following
functions using your graphing calculator.

\x+2\_

a) lIm

x—>-—2 X7 2

: COS X
b) Ilm 2 'l

X—0 X

. SIn3X
c) Iim =

X—0 5X




#5. Solve the following infinite limits.

. X
a) lIm

x—ly X _1

b) | 2X+18
XILD X° +5x—236

3X+9
&) Im -~z 5 =

x—>3X_




#6. Solve the following
limits at infinity.

a) |

15x* + 20x%°
5x°

Im

%

15x3 +10x% —5x

X—>—00

X° +4X+3
3x° — 27X

c) lim

X—>00



SOLUTIONS

5

1.a) Hole: (6,7) b) Hole (0,1) c) Hole: None
VA: X=-6 VA: x=1,-1 VA x=-1
HA: y=2 HA: y=0 HA: None
SA: None SA: None SA: y=6x-9
2. a) 6 3.a)2 b)o c)0 d)0 e)2
b) 8 f)3 g)-5 h)-3 i)g j)DNE

C) V39
d)-10 e)1



SOLUTIONS

4. a) DNE 5. a)
b) o D) — o0
c) 3/3 c) DNE

6. a)

b) 5/9

c) O



